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              केवल अभ्यास  हेतु नमूना प्रश्न पत्र 

                           Sample Question Paper for Practice only 

               हायर सेकण्डरी परीक्षा 2025   
                            Higher Secondary Examination 2025 

           ववषय - भूगोल 
           Subject- Geography 

                                                                   (Hindi & English Versions) 

     Tatal Question      Total Printed Pages              Time      Maximum Marks 

             20    9 +3 MAP       03 Hours                 70 
 

वनरे्दश :   

(i)  सभी प्रश्न अनिवार्य है। 

(ii) प्रश्न क्रमाांक  1 से  5 तक वसु्तनिष्ठ प्रश्न है। निसमें सही नवकल्प 06 अांक रिक्त स्थाि 06 अांक ,सत्य /असत्य  06  

अांक, सही िोड़ी  05 अांक, एक वाक्य  में उत्ति 05 अांक के प्रश्न होांगे। 

(iii) प्रश्न क्रमाांक 06 से 20 तक के प्रश्नोां  में आांतरिक नवकल्प निरे् गरे् हैं। 

(iv) प्रश्न क्रमाांक 06 से 13 तक अनत लघुत्तिीर् प्रश्न हैं। प्रते्यक प्रश्न के नलरे् 02 अांक आवांनित है। शब्द सीमा 30  शब्द है। 

(v) प्रश्न क्रमाक 14 से 17 तक लघुउत्तिीर् प्रश्न हैं। प्रते्यक प्रश्न के नलए 03 अांक आवांनित है। शब्द सीमा 75 शब्द है। 

(vi)  प्रश्न क्रमाांक 18 िीघय उत्तिीर् प्रश्न है। प्रश्न के नलए 04 अांक आवांनित है। शब्द सीमा  120 शब्द है। 

(vii) प्रश्न क्रमाांक 19  व 20 नवश्व तथा भाित के मािनित्र पि आधारित है। प्रते्यक प्रश्न के  नलए 05 अांक आवांनित है। 

(viii)  प्रश्न क्रमाांक 19 नवश्व  के मािनित्र में िशायए गरे् के्षत्र / स्थािोां  को पहिािकि उिके िाम  मािनित्र  में नलखिए तथा      

  प्रश्न क्रमाांक 20 भाित के निरे् गए  मािनित्र में प्रश्न  में निरे् गरे् स्थािोां/ के्षत्र को िशायकि उत्ति पुखस्तका   में सांलग्न कीनिए। 

(ix)  केवल  दृनि बानधत पिीक्षानथयर्ोां के नलए प्रश्न कमाांक 19 व 20 के स्थाि पि (नवश्व तथा भाित के मािनित्र आधारित) एक शब्द  

अथवा एक वाक्य में उत्ति आधारित सैद्ाांनतक प्रश्न है। 

  

 Instructions: 
(i) All Questions are compulsory. 

(ii) Question No.1 to 5 are objective type questions. Choose the correct options  06 marks. Fill in the blanks 

06 marks, True/False 06 marks, Match the column 05 marks, answer in one  sentence 05 marks. 

(iii) Internal options are given in Question No. 06 to 20. 

(iv) Questions No.6 to 13 are very short answer type questions. Each question carries 02 marks. Word limit 

is 30 words. 

(v) Questions No.14 to 17 are short answer type questions. Each question carries 03 marks. Word limit 75 

words. 

(vi) Questions No. 18 is long answer type questions. Question carries 04 marks.Word limit is 120 words. 

(vii) Question No. 19 and 20 are questions based on the map of the world and India. Each question carries 05 

marks. 

(viii) Question No. 19 Identify the areas/places shown in the map of the world and write their names on the 

map and Question no. 20 show the areas/places shown on the given map of India and attach them in 

the answer book. 

(ix) Only for visually impaired candidates, instead of question numbers 19 and 20 there are one word or one 

sentence based theory questions.(based on the map of the world and India.) 
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 1. सही ववकल्प चुनकर वलखिए :        (1x6=6) 

(i)  मािव भूगोल के कौि-से उपागम में नकसी प्रिेश की नवलक्षणता की पहिाि कििे पि बल निर्ा िाता था ? 

 (अ) अने्वषण औि नवविण 

 (ब) प्रािेनशक नवशे्लषण 

 (स) के्षत्रीर् नवभेिि 

 (ि) स्थानिक सांगठि 

 

       (ii)  आनिकालीि निवायह कृनष कार्य कौि-से के्षत्रोां में नकर्ा िाता है- 

 (अ) उष्ण कनिबांधीर् के्षत्रोां में 

 (ब)  भूमध्य सागिीर् के्षत्रोां में 

 (स) शीतोष्ण कनिबांधीर् के्षत्रोां में 

 (ि) शीत कनिबांधीर् के्षत्रोां में 

 

     (iii) नवश्व का सबसे व्यस्ततम व्यापारिक समुद्री मागय हैं - 

(अ) उत्तिी प्रशाांत समुद्री मागय 

(ब) उत्तिी अिलाांनिक समुद्री मागय 

(स) िनक्षणी प्रशाांत समुद्री मागय 

(ि) िनक्षणी अिलाांनिक समुद्री मागय 

 

      (iv) 2011  की ििगणिा के अिुसाि भाित की ििसांख्या की वानषयक वृखद् िि नकतिे प्रनतशत िही ? 

(अ)  2.22  प्रनतशत 

(ब)  2.16 प्रनतशत 

(स)  1.96 प्रनतशत 

(ि)  1.64 प्रनतशत 

 

       (v)  ििगणिा वषय 2011  में भाित में िगिीकिण का स्ति नकतिे प्रनतशत था ? 

(अ) 31.16  प्रनतशत  

(ब) 27.78 प्रनतशत 

(स) 25.71 प्रनतशत 

(ि) 23.34 प्रनतशत 

       (vi) उत्ति भाित के िाज्ोां  में िबी  फसल के रूप में कौि-सी फसल बोई िाती हैं- 

(अ) कॉफ़ी 

(ब) बाििा 

(स) मक्का 

(ि) सिसोां 

     Cheese and write the correct option: 

(i) In which approach of human geography, the amphasis was on identifying the     

      uniqueness of any region? 

  (A) Exploration and description 

  (B) Regional differention 

(c) Regional differentiation. 

(D) Spatial organisation 
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        (ii) In which areas is primitive subsistence agriculture Practiced? 

 (A) In the Tropical zone 

   (B)  In the Mediterranean regions 

   (c)  In the Temperate zone 

   (D)  In the Frigid zone 

 

(iii )  The world's busiest trade sea route is – 

      (A) The North Pacific sea route 

 (B) The Northern Atlantic sea route 

 (C) The South Pacific sea route  

 (D) The southern Atlantic sea route 

 

       (iv) According to the 2011 Census, what was the annual growth rate of India’s population- 

 (A) 2.22 Percent 

 (B) 2.16 Percent 

 (C) 1.97 Percent 

 (D) 1.66 Percent 

 

(v) What was the level of urbanization in India in the census year 2011? 

(A) 31.16 Percent  

(B) 27.78 Percent 

(C) 25.71 Percent 

(D) 23.34 Percent 

      (vi) Which is sown as Rabi crop in Northern Indian states ? 

  (A) Coffee 

  (B) Bajra 

  (c) Maize 

  (D) Mustard 

2.ररक्त स्थानो ों की पूवति कीविए :                                 (1 x 6 =6 ) 

(i) आमूलवािी (िेनिकल) नविािधािा िे निधयिता के कािण बांधि औि सामानिक असमािता की व्याख्या के नलए 

………………………………………….नसद्ाांत का इसे्तमाल नकर्ा। 

(ii) िनक्षणी अमेरिका में िेलमागय िो प्रिेशोां में सघि हैं,निसके िाम अिेंिाइिा के पम्पास तथा के ब्रािील के ………………… है।  

(iii) 2011  की ििगणिा के अिुसाि कें द्रशानसत प्रिेश ………………………………का ििसांख्या  घित्व भाित में सबसे अनधक हैं।  

(iv) भाित में िगिोां का अभु्यिर्………………………………… काल से हुआ हैं। 

(v) ……………………………………िाज् िेश का आधे से अनधक ज्वाि उत्पानित किता है। 

(vi) इांनििा गाांधी िहि पांिाब में…………………………………………बााँध से निकलती हैं। 
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     Fill in the blanks: 

(i) Radical school of thought employed .....................theory to explain the basic cause of 

Poverty, Jeprivation and social inequality. 

(ii) In South America, railway lines are concentrated in two regions, namely the Pampas 

of Argentina and the .........................................of Brazil. 

(iii) According to the 2011 census, the Union Territory of …………………has the highest 

Population density in India. 

(iv) Towns flourished since………………………………. times in India. 

(v) ……………………………….state Produces more than half of the country's jowar. 

(vi) Indira Gandhi canal originates ……………………from the dam in Punjab. 

        3.सत्य / असत्य चुनकर वलखिए -                             (1x6=6) 

(i) ििाांनककीर् सांक्रमण नसद्ाांत के पहले ििण में प्रिििशीलता औि मत्ययता िोिोां में काफी नगिावि आती है। 

(ii) नवसृ्तत वानणज् अिाि कृनष में प्रनत एकड़ उपि कम होती हैं। 

(iii) िाइि ििी िमयिी औि िीििलैंि से होकि प्रवानहत होती हैं। 

(iv) अिाि उत्पािि में भाित नवश्व में प्रथम स्थाि पि हैं। 

(v) लौह अर्स्क के प्रगलि के नलए मैंगिीि एक महत्वपूणय कच्चा माल हैं। 

(vi) िेन्नई पत्ति पूवी ति पि खस्थत सबसे पुिािे पत्तिोां में से एक हैं। 

 Choose and write True/False: 

(i) In the first stage of the demographic transition theory both fertility and  mortality    

    decline significantly 

(ii) In extensive commercial grain farming has low  yield per acre . 

(iii) The Rhine river flows through Germany and the Netherlands. 

(iv) India ranks first in the world in cereals production. 

(v) Manganese is an important raw material for the smelting  iron ore. 

(vi) Chennai port is one of the oldest ports located on the eastern coast. 
  

  4. सही िोडी बनाकर वलखिए -           (1X5=5) 

                             ‘’क’’                     ‘’ि’’  

(i) सवायनधक मूाँगफली उत्पािक िाज् (अ) तनमलिािू,किायिक,केिल 

(ii)    द्रनवड़ भाषा परिवाि (ब)  कृनष  

(iii) भाित में ििसांख्या नवस्फोि की अवनध (स) 1979  

(vi)  आर्यभट्ट (ि) 1951-81 

(v)  प्राथनमक  नक्रर्ाकलाप (इ ) गुििात  
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Match and write the correct pair : 

                "A"                           “B” 
(i)   Highest Peanut producing state (A) Tamilnadu, Karnataka, Kerla 

(ii)  Dravidian language family (B) Agriculture 
(iii) Periods of Population explosion in India (C) 1979  

(iv) Aryabhatta (D) 1951-81  
(v) Primary Activities (E) Gujarat 

 

      5 . एक वाक्य में उत्तर वलखिए -                   (1x5 = 5) 

(i) मािव नवकास की अवधािणा का प्रनतपािि नकसके द्वािा नकर्ा गर्ा था ? 

(ii) नसांगापुि औि होिोलूलू नकस प्रकाि के पत्तिोां के उिाहिण है ? 

(iii) भाित में गेहाँ के िो शीषय उत्पािक िाज्ोां के िाम नलखिए ।  

(iv) भाित की ििसांख्या की नकस प्रावस्था में वृखद् िि अत्यांत निम्न  थी ? 

(v) भाित के िािर ीर् िल मागय सांख्या 1 का नवस्ताि कहााँ से कहााँ तक हैं ? 

       write the answer in one sentence: 
(i) The concept of human development was propounded by whom? 

(ii) Singapore and Honolulu are examples of what type of ports? 

(iii) Write the names of top two wheat producing states in India. 

(iv) In which phase the growth rate of India's population was very low? 

(v) From where to where  dose India's National waterway Number 1 extend from? 

 
      6.  मािव भूगोल के  के्षत्रोां के िाम नलखिए ।                                                                                                 2 

    Write names of  fields of human geography. 

            अथवा / Or 

   एलि सी. सेमु्पल के अिुसाि मािव भूगोल की परिभाषा नलखिए ।  

   Write the definition of human geography according to the Ellen C. Semple.  

 

      7. प्रवास को प्रभानवत कििे वाले कािकोां के िो समूह कौि-से हैं ?                      2 

  What are the two groups  of factors that influence migration? 

अथवा /OR  

   थॉमस  माल्थस  का ििसांख्या वृखद् नसद्ाांत क्या है ? 

  What is the population growth theory of Thomas Malthus? 

 

      8.  मािव नवकास के िाि स्तम्भ कौि-से हैं ?                       2 

  What are the four pillars of human development ? 

अथवा /Or 

   ििसांख्या घित्व नकसे कहते हैं ? 

  What is population density? 
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     9. प्राथनमक के्षत्र के अांतगयत आिे वाले नक्रर्ाकलापोां के िाम नलखिए ।          2 

 Write the names of activities which comes under primary sector.   

अथवा /Or 

  गहि निवायह कृनष नकि प्रिेशोां में की िाती है ? इसके प्रकाि नलखिए ।   

  In which regions is intensive subsistence agriculture practiced? Write its types. 

 

     10. ििसांख्या सांघिि से क्या आशर् हैं ?                          2 

    What is meant by population composition ? 

                         अथवा /Or 

    कानर्क घित्व तथा कृषीर्  घित्व नकसे कहते है ?  

    What are physiological density and agricultural density?  

 

      11.भाित की ग्रामीण बखस्तर्ोां के िाि प्रकािोां के िाम नलखिए ।                     2       

    Write the names of four types of rural settlements in India. 

                               अथवा/Or 

    भाित के कोई िो प्रािीि िगिोां के िाम नलखिए । 

    Write names of any two ancient cities of India. 

 

       12. निबल बोर्ा गर्ा के्षत्र नकसे कहते हैं ?                         2 

     What is  called Net sown area ? 

अथवा /Or 

    फसल गहिता की गणिा नकस प्रकाि से की िाती है ? 

    How is crop intensity calculated ? 

 

       13. “िमानम गांगे“ कार्यक्रम के िो  उि  िेश्य नलखिए ।                        2 

     Write two objectives of “Namami Gauge Programme”. 

अथवा / Or 

    िल प्रिूषण के स्त्रोतोां के िाम नलखिए । 

    Write names of sources of water pollution . 

 

       14. ििाांनककीर् सांक्रमण की तीि अवस्थाओां की नववेििा कीनिए।                       3 

    Discuss the three stages of demographic transition. 

अथवा /Or 

   नवश्व में ििसांख्या के नवतिण एवां घित्व को प्रभानवत कििे वाले तीि भौगोनलक कािकोां का वणयि कीनिए I 

   Describe three geographical factors that affect the distribution and density of population      

   in the world ? 

 

       15. नवसृ्तत वानणज् अिाि कृनष  की कोई तीि नवशेषताएाँ  नलखिए I                     3 

   Write any three characteristics of extensive commercial grain farming. 

अथवा / Or 

  नमनित कृनष की कोई तीि नवशेषताएाँ  नलखिए। 

  Write any three characteristics of mixed farming. 
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        16.  भाित की ििसांख्या को उिकी आनथयक खस्थनत के अिुसाि नकतिे समूहोां में नवभानित नकर्ा गर्ा हैं ?             3 

                 Into how many groups is the population of India divided according to their economic   

                 status? 

      

                        अथवा / Or 

       भाित की ििसांख्या के व्यावसानर्क सांघिि का नवविण िीनिए। 

       Give details of the occupational composition of India's population.  

 

          17. भाितीर् कृनष की कोई तीि समस्याओां का वणयि कीनिए I                                 3 

                Describe any three problems of Indian agriculture. 

अथवा /Or 

      शुष्क कृनष तथा आद्रय कृनष में कोई तीि अांति स्पि कीनिए I 

       Explain any three differences between dry agriculture and wet agriculture. 

      

          18. से्वि िहि तथा पिामा िहि में तुलिा कीनिए ।                      4  

       Compare the Suez Canal and the Panama Canal. 

                              अथवा /Or 

     निम्ननलखित में अांति स्पि कीनिए - 

      (अ) नद्वपानश्वयक व्यापाि व बहु-पानश्वयक व्यापाि 

       (ब) अांतिेशीर् पत्ति तथा बाह्य पत्ति 

      Explain the difference between the following-  

       (A) Bilateral trade and Multi-lateral trade 

       (B) Inland ports and Out ports. 

 

          19. नवश्व के निरे् गरे् मािनित्र में िशायए गए निम्न के्षत्रोां / स्थािोां को पहिािकि उिके िाम नलखिए।         (1x5=5) 

(i) मध्य अमेरिका के आनिकालीि निवायह कृनष के्षत्र 

(ii)  नू्यर्ाकय  से केपिाउि समुद्री मागय 

(iii) ऑस्ट्र ेनलर्ा का वानणज् अिाि कृनष के्षत्र 

(iv) अलास्का 

(v) िर ाांस-साइबेरिर्ि िेल मागय 

   Identify the following areas/places shown on the given map of the world and write the name: 

(i) Primitive subsistence farming areas of central America 

     (ii) New York to Cape Town sea route 

                 (iii) Commercial grain farming sector of Australia 

(iv) Alaska 

(v) Trans-Siberian railway 

       

             केवल दृनिबानधत पिीक्षानथयर्ोां के नलए प्रश्न क्रमाांक 19 के स्थाि पि नवश्व मािनित्र आधारित सैद्ाांनतक प्रश्न - 

(i) मध्य अमेरिका एवां मैखिको में आनिकालीि निवायह कृनष को क्या कहा िाता है ? 

(ii) बैंकूबि से र्ोकोहामा िल मागय कौि-से महासागि से होकि गुििता है? 

(iii) ऑस्ट्र ेनलर्ा के शीतोष्ण घास के मैिाि को नकस िाम से िािा िाता है  ? 

(iv) अलास्का नकस िेश का िाज् हैं? 

(v) िर ाांस साइबेरिर्ि िेल मागय की लांबाई नकतिी हैं ? 
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          Theoretical question in place of question no. 19 world map based only for Visually  impaired candidates  

(i)  What is the primitive subsistence agriculture in central America and Mexico called? 

(ii)   The Vancouver to Yokohama waterway passes through which ocean? 

(iii) By what name are the temperate grasslands of Australia known?" 

(iv) Alaska is a state of which country? 

(v)    What is the length of the Trans Siberian Railway? 

अथवा / Or 

    नवश्व के निरे् गरे् मािनित्र में िशायए  गरे् निम्न के्षत्रोां/ स्थािोां की पहिािकि उिके िाम नलखिए। 

(i)  मॉखररर्ल 

(ii)  ऑस्ट्र ेनलर्ा का िेर्िी कृनष के्षत्र  
(iii) पिामा िहि  
(iv) कें िबिी घास का मैिाि 

(v)   अफ्रीका महाद्वीप का सबसे अनधक ििसांख्या वाला िेश 

 

           Identify the following areas/places shown on the given map of the world and write the name: 

(i)  Montreal 

(ii)   Australia's dairy farming sector 

(iii) Panama Canal 

(iv) Canterbury grassland. 

 (v)  The most populous country in the African continent 

 

    केवल दृनिबानधत पिीक्षानथयर्ोां के नलए प्रश्न क्रमाांक 19 के स्थाि पि नवश्व मािनित्र आधारित सैद्ाांनतक प्रश्न. 

(i)  माांनिर र्ल नकस िेश का िेलवे से्ट्शि हैं? 

(ii)  ऑस्ट्र ेनलर्ा के नकस भाग में िेर्िी कृनष का कार्य नकर्ा िाता हैं? 

(iii) ओरिएां िल एिपे्रस िेल मागय नकस महाद्वीप में खस्थत है ? 

(iv) कें िविी घास का मैिाि नकस िेश में है? 

(v)   अफ्रीका में सबसे अनधक ििसांख्या वाला िेश कौि-सा है? 

 

          Theoretical question in place of question no. 19 world. map based for visually impaired  candidates only. 

       (i)  In which country is the Montreal railway station located? 

                 (ii)  In which part of Australia is dairy farming practiced? 

     (iii) In which continent is the Oriental Express railway route located? 

     (iv) In which country is the Canterbury grassland located? 

     (v)  Which is the most populous country in Africa? 

          20. भाित के निए गरे् मािनित्र में निम्न को िशायइए –       (1x5=5) 

(i) भाित का सवायनधक िावल उत्पािक िाज् 

(ii) भाित का उच्चतम ििसांख्या वृखद् िि वाला िाज् 

(iii)  पािाद्वीप  बांििगाह 

(iv) अांकलेश्वि िनिि तेल उत्पािक के्षत्र 

(v) िािीगांि कोर्ला के्षत्र 

     shew the following in the given map of India: 

(i) Largest Rice Producing state of India  

(ii) state with the highest population growth rate of India 

(iii) Paradweep Port 

(iv) Ankleshwar mineral oil producing area 

(v) Raniganj coal field 
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           केवल दृनिबानधत पिीक्षानथयर्ोां के नलए प्रश्न क्रमाांक 20 का सैद्ाखिक प्रश्न  

            (i)   भाित में िावल का सबसे बड़े उत्पािक िाज् का िाम नलखिए हैं I 

            (ii)  2011 की ििगणिा अिुसाि सबसे अनधक ििसांख्या वृखद् िि वाला िाज् कौि-सा है? 

           (iii)  पािाद्वीप  पत्त्ति नकस ििी के िेल्टा पि खस्थत हैं ? 

           (iv)  अांकलेश्वि तेल के्षत्र नकस िाज् में खस्थत है ? 

(vi) िािीगांि कोर्ला के्षत्र भाित के नकस िाज् में खस्थत  है ? 

 

    Theoretical question of question no. 20 only for Visually impaired candidates only. 

   (i) Name the largest rice producing state in India. 

   (ii) According to 2011 census, name the state having the  highest Population growth rate? 

   (iii) Paradweep port is located on the delta of which Rivers?  

   (iv) In which state is Ankleshwar oil field located ? 

                 (vi) In which State of India is the Raniganj coal field located? 

                 अथवा /Or 

      भाित के निरे् गरे् मािनित्र में निम्ननलखित को िशायइए - 

        (i) कोखच्च बांििगाह 

        (ii) कुदे्रमुि लौह अर्स्क ििाि 

        (iii) नसांगिौली कोर्ला ििाि 

        (iv) भाित का सवायनधक गन्ना उत्पािक िाज् 

        (v)  काकिापािा िानभकीर् ऊिाय केन्द्र 

      show the following in the given map of India: 

   (i)   Kochchi Port 

   (ii)  Kudremukh Iron Ore Mine 

   (iii) Singrauli coal mine. 

   (iv) Highest sugarcane producing state of India  

   (۷) Kakarapara Nuclear energy station. 

               केवल दृनि बानधत पिीक्षानथयर्ोां के नलए प्रश्न 20 के अथवा के सैद्ाांनतक प्रश्न 

    (i)  कोखच्च बांििगाह नकस िाज् में है? 

    (ii) कुां दे्रमुि ििाि नकस िाज् में हैं ?  

    (iii) नसांगिौली कोर्ला ििाि नकस िाज् में खस्थत हैं? 

    (iv) भाित में कौि-सा िाज् अनधकतम गन्ना उत्पानित किता हैं? 

    (v) काकिापािा िानभकीर् ऊिाय परिर्ोििा नकस िाज् में खस्थत हैं? 

      Theoretical question of question No.20  Or only for visually impaired candidates:  

     (i) In which state is the Kochi port located? 

     (ii) In which state is the Kudremukh mine located? 

    (iii) In which state is the Singrauli coal mine situated? 

    (iv) Which state in India produces the maximum sugarcane? 

    (v) In which state is the Kakrapara nuclear power plant situated? 
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